
A
U

R
A

 G
3-P

L77
S

eated C
alf

 

IM
P

O
R

TA
N

T 
S

A
FE

TY
 IN

FO
R

M
A

TI
O

N

It 
is

 th
e 

so
le

 re
sp

on
si

bi
lit

y 
of

 th
e 

pu
rc

ha
se

r o
f M

AT
R

IX
 F

itn
es

s 
S

ys
te

m
s 

pr
od

uc
ts

 to
 in

st
ru

ct
 a

ll 
in

di
vi

du
al

s,
 w

he
th

er
 th

ey
 a

re
 th

e 
en

d 
us

er
 o

r s
up

er
vi

si
ng

 p
er

so
nn

el
 o

n 
pr

op
er

 u
sa

ge
 o

f t
he

 e
qu

ip
m

en
t.

It 
is

 th
e 

so
le

 re
co

m
m

en
de

d 
th

at
 a

ll 
us

er
s 

of
 M

AT
R

IX
 F

itn
es

s 
Sy

st
em

s 
ex

er
ci

se
 e

qu
ip

m
en

t b
e 

in
fo

rm
ed

 o
f t

he
 fo

llo
w

in
g 

in
fo

rm
at

io
n 

pr
io

r t
o 

its
 u

se
.

 P
R

O
P

E
R

 U
S

A
G

E

1.
 D

o 
no

t u
se

 a
ny

 e
qu

ip
m

en
t i

n 
an

y 
w

ay
 o

th
er

 th
an

 d
es

ig
ne

d 
of

 in
te

nd
ed

 b
y 

th
e 

m
an

uf
ac

tu
re

r. 
 It

 is
 im

pe
ra

tiv
e 

th
e 

so
le

 
   

 re
co

m
m

en
de

d 
th

at
 a

ll 
us

er
s 

of
 M

AT
R

IX
 F

itn
es

s 
S

ys
te

m
s 

ex
er

ci
se

 e
qu

ip
m

en
t b

e 
in

fo
rm

ed
 M

AT
R

IX
 F

itn
es

s 
S

ys
te

m
s 

 
   

 e
qu

ip
m

en
t i

s 
us

ed
 p

ro
pe

rly
 to

 a
vo

id
 in

ju
ry

.

2.
 K

ee
p 

ha
nd

s 
an

d 
fe

et
 c

le
ar

 a
t a

ll 
tim

es
 fr

om
 m

ov
in

g 
pa

rts
 to

 a
vo

id
 in

ju
ry

. 

C
H

E
C

K
 F

O
R

 D
A

M
A

G
E

 P
A

R
TS

1.
 D

O
 N

O
T 

us
e 

an
y 

eq
ui

pm
en

t t
ha

t i
s 

da
m

ag
ed

 a
nd

 o
r h

as
 w

or
n 

or
 b

ro
ke

n 
pa

rts
.  

U
se

 o
nl

y 
re

pl
ac

em
en

t p
ar

ts
 s

up
pl

ie
d 

by
 y

ou
r 

   
 c

ou
nt

ry
’s

 lo
ca

l M
AT

R
IX

 F
itn

es
s 

S
ys

te
m

s 
de

al
er

.
  2.

 M
A

N
IN

TA
IN

 L
A

B
E

LS
 A

N
D

 N
A

M
E

P
LA

TE
S

:  
D

O
 N

O
T 

re
m

ov
e 

la
be

ls
 fo

r a
ny

 re
as

on
.  

Th
ey

 c
on

ta
in

 im
po

rta
nt

 in
fo

rm
at

io
n.

 If
 u

n-
   

 re
ad

ab
le

 o
r m

is
si

ng
, c

on
ta

ct
 y

ou
r M

AT
R

IX
 F

itn
es

s 
S

ys
te

m
s 

de
al

er
 fo

r a
 re

pl
ac

em
en

t.

3.
 S

E
C

U
R

IN
G

 E
Q

U
IP

M
E

N
T:

  A
ll 

eq
ui

pm
en

t M
U

S
T 

be
 s

ec
ur

ed
 to

 th
e 

flo
or

 to
 s

ta
bi

liz
e 

an
d 

el
im

in
at

e 
ro

ck
in

g 
of

 ti
pp

in
g 

ov
er

.  
A 

   
 li

ce
ns

ed
 c

on
tra

ct
or

 m
us

t b
e 

pe
rfo

rm
ed

 th
is

, w
he

re
 a

pp
lic

at
io

n.

4.
 M

AI
N

TA
IN

 A
LL

 E
Q

U
IP

M
EN

T:
  P

re
ve

nt
at

iv
e 

m
ai

nt
en

an
ce

 is
 th

e 
ke

y 
to

 s
m

oo
th

 o
pe

ra
tin

g 
eq

ui
pm

en
t a

s 
w

el
l a

s 
ke

ep
in

g 
yo

ur
 

   
 li

ab
ilit

y 
to

 a
 m

in
im

um
. E

qu
ip

m
en

t n
ee

ds
 to

 b
e 

in
sp

ec
te

d 
at

 re
gu

la
r i

nt
er

va
ls

.

5.
 E

ns
ur

e 
th

at
 a

ny
 p

er
so

n(
s)

 m
ak

in
g 

ad
ju

st
m

en
ts

 o
r p

er
fo

rm
in

g 
m

ai
nt

en
an

ce
 o

r r
ep

ai
r o

f a
ny

 k
in

d 
is

 q
ua

lifi
ed

 to
 d

o 
so

.  
M

AT
R

IX
 F

itn
es

s 
   

 S
ys

te
m

 d
ea

le
rs

 w
ill 

pr
ov

id
e 

se
rv

ic
e 

an
d 

m
ai

nt
en

an
ce

 tr
ai

ni
ng

 a
t o

ur
 c

or
po

ra
te

 fa
ci

lit
y 

up
on

 re
qu

es
t.

M
atrix Fitness System

s C
orp.  1610 Landm

ark D
rive  C

ottage G
rove W

I 53527

Toll Free 866.693.4863  w
w

w
.m

atrixfitness.com
  Fax 608.839.8687

G3-PL77 Seated Calf
UNPACKING G3-PL77 Seated Calf
Thank you for purchasing a MATRIX Fitness product.  Carefully unpack the unit from this box and dispose of the packing 

materials in accordance with your local laws.

CAUTION
The weight of the G3-PL77 Seated Calf 1190lbs. (539.8kg) not including the weight stack. To avoid injury to yourself 

and prevent damage to the frame components, be sure to have proper assistance removing the frame pieces from this 

box. 

Step 1

AURA G3-PL77 Seated Calf

Step 3

TOOLS NEEDED

DESCRIPTION                                SKETCH      QUANTITY

3MM L-Shaped Allen Wrench                        1

4MM L-Shaped Allen Wrench                        1

5MM L-Shaped Allen Wrench                        1

6MM L-Shaped Allen Wrench                        1

8MM L-Shaped Allen Wrench                        1

10MM L-Shaped Allen Wrench                     1

Phillips Screwdriver                                      1

8MM Open-End Wrench                                1

17MM Open-End Wrench                              1

Guide Rod Lubrication                                 1

Hardware Bag

If any items are missing please contact your country's local Matrix dealer for assistance.

Upholstry Detail

Step 2

Frame Detail

P
A

R
T #  M

H
0204528B

Flat Washer  (M12)

Description Sketch

Lock Washer (M12)

Screw (M12 X30L)

Item 

Z04

Z03

Z02

Qty

2

2

2

Input Detail
Item 
 Z02    Screw (M12x30L)        3
 Z03    Lock Washer (12)        3
 Z04    Flat Washer (M12)        3
 Z07    Screw (M6x6L)        2

Description Sketch Qty

Z02
Z03

Z04

SWIVEL ARM AXLE

Item 

  Z06   Screw (M10x25L)                  4

Description Sketch Qty

RUBBER BUMPER

HORN
ROD SLEEVE

SLEEVE
Z04

Z03
Z02

STOP RING
Z04

Z03
Z02Z07

Z06


